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21, i, /1. : CEBN-S-GKL v Titeror gieaent STqsRu
T

mwen 1005334 wher giwwEm
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10.

e
e TN N % G 91E, AT 39 qherr gitaet il ugare orava W @ foh gud @ig famn T,
HET AT YT GAT TS AT WA, ML T | A} T 2, o 3@ W wiveror giewewn A w@e A |
Fuar & W@ % OMR Sw-uses #, 3fa worm W, et Tvar iR wdierur gitaent o7 A, B, C a1 D
@, A A T fa foredt <k o fagfa & aw ok eag v i Rrwerd sufigan 6 @ | e
ot R 1 oo /Femfa i feafa & swouses frea e e smoem |
39 wiear gieet T A1y § fou T wisesw H ST ST
gsaTeh forat § | wdiem gfes W st Fo T o |
38 The gt # 120 YW (99) fw  # | e g R ok aiusht 2T 8 o R | g e
# IR yegeR (S feuw mu # | 3 & T ogeH A o, T o1 IeR-wEe W sifha e wmed # | Al
el Y@ o foh U @ e TogeR wE §, df 36 UgeR i Afhd L T AUl HATOH @ | TS
ST o I Faer ge F T g R
STIR! T T eI e | U T IR W FP 3ifhd e § | S § fu e iy 3 |
@Yt g 37k TEE E |
308 TE o6 3 wlier gfeqent & fafie geiel % Yot STwEe W AR T IE A, UH! T
AT % 1Y I e % SIHER F9 frewr saws # 3 E |
Y F9H et Tl T IT-Gh B W F §1g q°1 G F THH W T IH-77F AeeTh Hl G
3 | TR 79 A1 GET gieeRT o S AT STEld 7 |
= W % o0 T qhemn gfereh % ofd § doH € |
TeTd I & U &3 :
TS TyA-uEl § Sefigar g fau e e I o fere = fean s |
() uoF T ¥ I ar dfeus I € | Infiear g weks ge o fore fou e ws e IR % fow v ¥
fra fopw T S7ehT 1 Ue-TAETE 5 % B9 | wHier ST@ |
(i) I ¢ Iufican ©h & fireh 3T a1 B, A W Tera I AT @, F@fy fiw e s § @ v I
Brr 2, T oft 38 g & fore sudwger @, sdt @@ 1 < femn e |
(i) M I=figar grT 1S W99 &t T8I foha1 STl 2, S79iq Ificar grr Ie T feam Sian 2, o 3@ weA & forw
g g8 7@ fon S |

W 7 HTIHT g TN GiEaeht @icid &t T Hgl AT 77 7% T @it

Note : English version of the instructions is printed on the back cover of this Booklet.
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fefafea # @ S99, wEEE (firewall) #T|6.

T R 2

(a) 3T F HEAH W FAX TF IAFA T8
() T AT

(b) U HHERR T FAT ST HHL H THEH
g HehaT €

(c) T T R TTC e Tl i TahTe ittt

(d) ITEE ¥ T Pl AebA 3 fore Stfer e

Fr=fefaa & & -1, Yoy e 78 8 2
(a) @@ﬁZ(Spreadsheet)

(b) 3HTEI%E (AutoCAD)

(c) UHTH yTaR@rEe (MS PowerPoint)

(d) TR (Linker)

frafafaa & @ =9, & fcfifed divess
(Malicious software) & ?

(a) &fHT (Hacking)

(b) UTHSE ShieHT (Password Cracking)

(c) 2ISH &M (Trojan Horse)

(d) WMEE (Firewall)

(ERE) % FEEGREia SN (SR
HIESII) T T HeT AT 2 ?

(a3 WSS (JPEG)

(b) AHITEAT (Multimedia)

(c) THIT(AVA)

(d) dIEsT (PNG)

frafafea & @ w4, FHm g (Artificial

Intelligence) 3 fareryar & 2

(a) "™ % fAUE (decision making) 3T Hﬁﬁjﬁf
AT FHET (replicate)

(b) T AT Ed AT

(c) Torelt fafire woism & fore wum w1 a1
Hfaa &ET

(d) IHT i HifEAT & ST=AN-AfHAT (interact)
T Tt &

(2-B)

forer ETa/dwT 1T B € § yRa faem gREre,
FETH HRA TR A HTe Fohed S8 ¢ Taed TR fhy
TE 2

(a) FLAGNOU)
(b) wife STawTaHT
(c) wiepfceh Hiq Td WfTeT % (CCRT)
(@) e et Tsf e F= (IGNCA)

51 T T o Sfaia wfya Fefafed § &
1T e TeA 37w e qed 3R FTER
a1 T e o fore e g ot ety a3,
FWOT UH AfEEr F qed H wfea, gia ok
AT A ol ST S T 2

(a) 3 $iege 3T e W, fmar

(b) T Hferk a3 wfrer ofesg, 78

feeett

() & ATeT=T HETfaeR, Arer=r

@ FAGNOU), 7 faeedt

“ffar iy, we e wHy fAfer (non-lapsable
corpus fund) %, et 3T fomiy w9 § afgaren
EQl qa T4 G (safety and security) ) ﬁW %@
STfyhfead afEsHTA & fore foram simar € | 38 forass
T S foham SmaT 8 2

(a) Wiew U e feorepme vaTer
(b) T AT
(c) Toravae

(@ faem e



Which one among the following is the purpose

of firewall ?
(a) Preventing unauthorised access to
computer via the internet
(b) Installation of software that can harm
the computer
(¢) Recording everything that is done on
computer
(d) Running checks to prevent virus attacks
2.  Which one of the following is not an application
software ?
(a) Spreadsheet
(b) AutoCAD
(¢) MS PowerPoint
(d) Linker
3. Which among the following is a malicious
software ?
(a) Hacking
(b) Password Cracking
(¢) Trojan Horse
(d) Firewall
4. What is an interactive combination of text,
graphics, video, audio and images termed as ?
(a) JPEG
(b) Multimedia
() AVA
(d PNG
5.  Which one of the following is the characteristic
of Artificial Intelligence ?
(a) Replicates human decision making
(b)  Stores relevant information
(¢) Stores similar kind of data for a specific
purpose
(d) Allows user to interact with media
CEBN-S-GKL
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(3-B)

Which organisation/institute has recently
started the new initiatives such as Bharat
Vidya Pariyojana, Brihattar Bharat and Nari
Samvaad Prakalp ?

(a) IGNOU

(b) Sahitya Akademi

(¢) Centre for Cultural Resources and
Training (CCRT)

(d) Indira Gandhi National Centre for Arts
(IGNCA)

Which one among the following educational
institutions established under the Union
Ministry of Culture is promoting to preserve,
protect and promote Lord Buddha’s teaching
and value of love, compassion and non-violence
for developing good moral values and
practices ?

(a) Indian Institute of Advanced Study,
Shimla

(b) National Council of Educational
Research & Training, New Delhi

(¢) Nava Nalanda Mahavihara, Nalanda
(d) IGNOU, New Delhi

“Nirbhaya Fund”, a non-lapsable corpus fund,
which is to be utilized for the .projects
specifically designed to improve the safety and
security of women is administered by :

(a) The Ministry of Women & Child
Development

(b) The Ministry of Home Affairs
(¢) ' The Ministry of Finance
(d) The Ministry of Education



10.

11.

12.
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%% R T 2015 — 16 H YR i T Wormrd iy
3 F1SHT (PKVY) HT 33T &

(a) H H 3R A syl o fag @@ w
fcreeff & |

(by Fi=rg 9% se® g iR aftfa sia swar
STEY T |

(¢) I SAfes Gt it S@rET AT |
(d) AY W H i vt e |

F3 TEHR 3 “eFR @ TGrg” F g0r & are ww
T “HEHIAT HATTT” FhT TATIHT el 3 2

(a) 2014

(b) 2016

(c) 2018

@ 2021

T&TT HATEHE, WA GhI A 2025 i foh o & & 1
Hiva o 2

(a) TIEIGT % THERT % qHatE 1 Ty
(b) GuriwHrad

(c) rifer =T

(@) eI

fefsres wimd & forg 3fiow Jeash (ONDC) F s &

frferfad & & SF-avER-a Fu ad /8 2

1. 39 YRA SR gRT 2021 § qrsT o mam o |

2.  TUH W WA § S-Hmd 1 Al
FEATR

3. 2024 H, WRG T 3G I (e-retail
' penetration)ﬁﬁﬁ‘faﬁmm%l

e fow e e %1 I R s g
(a) 1,233

(b) I 1372

(¢ Faw23is

(d FaA3

13.

14.

15.

(4-B)

hnfE srgEue =g fagm #i @ & T

(INSPIRE) 4 Y@ rsn & faia «fufeem

(MANAK) @hi # 319 @fiferd 8 2

(a) 19 - 25 T & A T F FAH FRAFT A
HATTA FASTBH -

by TS "o i WEAEE  SHEUH
TANTRITATSAT § STTH 3 ST

(c) 39 % ik fersh

(d) 10— 15 I & Y 1 % F&T 6 — 10 F T
Tt Wt s

frafofn # @ fF #or ermeie @a ™ R
2024 & gETTA {3 T 2

1.

2. ot smadia fie

3. o weflor AR

4. Glrag we

= fow e e =1 T A I g
(8 1,2,33W4

(b) FaA 134

(¢) FaA1,23M4

(d) Faer23i3

TR % T W@ et safie % o # fmfofaa
mﬁwﬁwﬁﬁq:

ST I SEUEIE | AT 9T | F 1970 3 97k & fihedt
I TF g & @ W, o e T g
STt 1 SR &1 | 3 TRA T @i % forg e
¥ 9 T, St fR 53-ufiEie fi ww Ui
(landmark) effasT e of | ﬁﬁﬁ@tjﬁﬁ'ﬂt
wIH W 2023 # fomifya @9 ot swifs
(Shraft-=rerterr) e fohar |
frfafiaa & & 39 =afthes 1 g=fag

(a) fee Fear

(b) friwrate

(¢) vAH ST

(d =T



9. The Paramparagat Krishi Vikas Yojana
(PKVY) launched in 2015 — 16 by the Central
Government is aimed to :

(a) make agriculture more modern and
globally competitive.

(b) provide improved access to irrigation and
enhanced water efficiency.

(¢c) support promotion of organic farming in
the country.

(d) reduce dependence of agriculture on
monsoon.

10. When did the Union Government establish a
separate ‘Ministry of Cooperation’ with the
vision of “Sahkar Se Samriddhi” ?

(a) 2014
(b) 2016
() 2018
(d 2021

11. The Ministry of Defence, Government of India,
has declared 2025 as the year of :

(a) Rehabilitation of the families of martyrs
(b)  Reforms

(¢) Peace

(d) Self-reliance

12. Which of the following statements about Open
Network for Digital Commerce (ONDC) is/are
correct ?

1. It was launched in 2021 by the
Government of India.

2. Its aim is to democratize e-commerce in
India.

3. India has surpassed China in 2024 in
e-retail penetration.

Select the answer using the code given below :

(a) 1,2and3

(b) 1and2only

(¢) 2and 3 only

(d) 3only

CEBN-S-GKL

13.

14.

15.

(5-B)

“Million  Minds Augmenting National
Aspirations and Knowledge” (MANAK), a
scheme wunder the flagship programme,
Innovation in Science Pursuit for Inspired
Research (INSPIRE), caters to :

(a) The college students studying in the
undergraduate programme in the age
group of 19 — 25 years.

(b) The research scholars in recognized
research  laboratories of national
importance.

(¢) The college teachers of the country.

(d) The school children studying in classes
6 — 10 in the age group of 10 — 15 years.

Who among the following were awarded the
Major Dhyan Chand Khel Ratna Award 2024 ?

. Shri Gukesh D

2.  Shri Harmanpreet Singh

3. Shri Praveen Kumar

4.  Ms. Manu Bhaker

Select the answer using the code given below :
(a) 1,2,3and4

(b) 1and4only

(¢) 1,2 and4 only

(d 2and3only

Consider the following statements about a
prominent film personality of India :

He was born in Hyderabad. He emerged in the
1970s with a series of films that challenged
mainstream Bollywood. He became widely
known for Bharat Ek Khoj, a landmark
53-episode television series. He directed a 2023
biopic about Sheikh Mujibur Rahman.

Identify the personality from the following :

(a)  Govind Nihalani

(b)  Girish Karnad

(¢) Shyam Benegal

(d) Mani Ratnam



16. T TS 316 Yo HA-FeC fohe a2 1 wared
T R 2 2
(a) o
(b) FHd
(¢) &
(d) §Ih e i
17. 9TcS $7T (Bald Eagle) 1 81t €1 & S7iferehife &9
¥ f=fefiaa & & fora 39 1 ot waft wifya fomar
TR 2
(a) <M
(b) IS
(c) JUHT (USA)
(d) IS
18. ¥ fopwr, wnd iR fopw w1 % wer s wgw a0
IR ?
(a) SiATRT
(b) M
(q R
(d) U
19. f=fafaa d @ smavasR-a s ad 2R 2
1. TREEH-3EW USEy i AAT-gHI sFaeen
(Moidam-The Mound-Burial system) T
e T forg et geht # wnfirer fomam |
2. YA GLHR 3 uTelt, SafeE, e i Aftredt
T I ATT (classical language) T gt
(status) Je9 foam |
3. UIUHRSATE URASHT (Project PARI) farem
AT U TR |
=t fa T e 1 SRR R I AT :
(a) HIA2
(b) FASA1
(c) Fa23R3
(d 1,233
20. U (ISRO) 3 wafug fr=fafes doauest
(PSLVs) & & F1-91, 36 fiem & wrer wet gafera
TR
dieguerdt (PSLV) 491 (Mission)
(a) PSLV C60 SPADEX
(b) PSLV C59 Proba-3
(¢) PSLV C58 XPoSat
(d PSLV C57 DS-SAR
CEBN-S-GKL

21.

22.

23.

(6-B)

Frafafaa & & fora dfeem dviam sifafam & g
FHAfSah AR A7 AT & FTHA § STeaet
(HTeT 3R HaT L) T Jad AT 7T 2

(a) wfITH (T | hat guire) stfufy
(b) Efe (o 9t St geie) st
(c) Eferem (uak oY =t gt sfufaam
(d) dfeam (o 9t S3at geie) Afif=m

frfafaa s e wsife # & fFd o & st
EUSIERR St NI BN

(a) ILO

(b) WFP

(@ UNICEF

(d UNHCR

FHETT efehdl JTENT (CVC) 3 s # freferfiad swemt
T fomm fifse

1. ¥RA % Tegafd gRT s ddshal g H
frgfr Rt 2|

2. T T IR HI P F wqia FA

areft affe & e it tF GeE F FT A A E |

3.  wfauy ufffot & oo & fauer & qed
T FE & YT A FachaT A i AR
T Tfer = ATl afufa § 8 e € |

I & ¥ fopa e el € 2

(a) A

(b) 1

() 2

d 3



16. ‘The Order of Mubarak Al-Kabeer’ is the
highest national award of :
(a) Egypt
(b) Kuwait
(c) Bahrain
(d) United Arab Emirates
17. Bald eagle has recently been officially declared
as the national bird of which one among the
following countries ?
(a) China
(b) England
(c) USA
(d) Ireland
18. Surya Kiran is a joint military exercise between
India and :
(a) Bangladesh
(b) Bhutan
(¢) Singapore
(d) Nepal
19. Which of the following statements is/are
correct ?
1.  Moidam-The Mound-Burial system of the
Ahom dynasty was inscribed in the
UNESCO World Heritage list.
2. The Government of India conferred the
status of classical language to Pali,
Assamese, Bengali and Maithili.
3. Project PARI is an initiative of Ministry
of Education.
Select the answer using the code given below :
(a) 2only
(b) 1lonly
(¢) 2and 3only
(d 1,2and3
20. Which one of the following PSLVs, launched by
ISRO, is not correctly matched with their
Missions ?
PSLV Mission
(a) PSLV C60 SPADEX
(b) PSLV C59 Proba-3
(¢c) PSLVC58 XPoSat
(d) PSLVC57 DS-SAR
CEBN-S-GKL
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22.

23.

(7-8B)

Which of the following Constitution
Amendment Acts introduced GST (Goods and
Services Tax) in course of inter-state trade or
commerce ?

(a) Constitution (One Hundred and First
Amendment) Act

(b)  Constitution (One Hundred and Second
Amendment) Act

(¢) Constitution (One Hundred and Fourth
Amendment) Act

(d) Constitution (One Hundred and Sixth
Amendment) Act

Which one among the following UN agencies
has received the Nobel Prize more than once ?

(a) ILO

(b) WFP

(¢) UNICEF
(d) UNHCR

Consider the following statements about
Central Vigilance Commission (CVC) :

1. Central Vigilance Commissioner is
appointed by the President of India.

2. The Committee to recommend the
appointment of Central Vigilance
Commissioner has the Minister of Home
Affairs as one of the members.

3. In certain circumstances the Leader of
the single largest group in opposition in
Lok Sabha can be on the Committee to
recommend the appointment of Central
Vigilance Commissioner.

How many of the above statements is/are
correct ?

(a) Nil
(b 1
() 2
(d 3



24.

25.

26.
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G TS WETHHT 6 Hehed GRI ALTHHTNG HALrT
Arhd fdad (International Day of Democracy)
el HAETSTAT R 2

(a) 20 SHaLr
(b) 1%
(¢) 15 fadsw
d 9fdEs

Hfife (NITD) 3w & sn § faefafeg & @

T/ H-H HT TE 2/ 2

1. 9RA & YOHHAT 36 ST OReg % T
g

2. TEME % IWSATA 36 W IRwg & uH
e |

=t fa 7Tq e T ST AR S g

(2) a1

(b) HAA2

(¢) 132 IH

(d TarL,TE2

TS afger s F an § efaied § 8 a9

FITTHE 2

1. JE U Hitatees FHE g |

2. 3% U™ ufeeret & fau wifenfes ik
farfiren e ot wfte e 1 SRR |

3.  3Hh U AR i g G At a+ft
FifcTa AT 9T SRR ST GeTTE o T AR
gl

Frer fo m gz bt e o I g -
(a) w132

(b) FaeT 23N 3

(¢) Faa 133

(d 1,293

27. frfaflad & & st aw, 9ra & d@faum &

28.

29.

(8-B)

et it # it i S et Fefiaan
27

(a) Bfereft
(b) et
(c) ROl
(@ =g

Fr=fafed @ @ form voo § Tsgaw & foo gew
Ity T (#Hid) & 2

(a) T W
(b) foew

(c) WEAYW
) dfeETg

D

wAEEYE?

1 et Afeat wree 1 ovef & W, s SR et
i afeat |

2. uf¥et Afeat weg # o @ fiy, dom ok
ferra <fieit feat |

Frer fow e 1 s R S g

(ag FaT1

(b) A 2

(Q 132 amt

AL, A2

g e e 1

(d)



24. International Day of Democracy, as decided
vide a UN General Assembly resolution, is
observed on :

(a) 20 January

(b) 1dJuly

(¢) 15 September

(d) 9 December

25. Which of the following statements about the
NITI Aayog is/are correct ?

1. Prime Minister of India is the
Chairperson of its Governing Council.

2.  Lieutenant Governor of Ladakh is a
member of its Governing Council.

Select the answer using the code given below :

(a) 1only

(b) 2 only

(¢c) Both1land2

(d) Neither 1 nor 2

26. Which of the following statements about
National Commission for Women are correct ?
It It is a statutory body.

2. It has the mandate to review the
constitutional and legal safeguards for
women.

3. It has the mandate to advise the
Government on all policy matters
affecting women.

Select the answer using the code given below :

(a) 1and2only

(b) 2 and 3 only

(¢) 1and3only

(d 1,2and3

CEBN-S-GKL

27.

28.

29.

(9-B)

Which, amongst the following, is the latest
language to be included in the Eighth Schedule

of the Constitution of India ?

(a) Maithili

(b) Nepali

(¢) Konkani

(d)

Manipuri

Which one among the following states has the
highest number of seats in the Council of

States ?

(a) Andhra Pradesh

(b) Bihar

(¢) Madhya Pradesh

(d) Tamil Nadu

Which of the following statements about the
Indus Waters Treaty is/are correct ?

1. The term ‘Eastern Rivers’ means the
Sutlej, the Beas and the Ravi taken
together.

2. The term ‘Western Rivers’ means the
Indus, the Jhelum and the Chenab taken
together.

Select the answer using the code given below :

(a) 1lonly

(b)  2only

(¢) Both1land2
(d) Neither 1 nor 2



80. A & Hiouw ¥ srgwr fefafad § & F9-ay

31.
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-G FYT TR /R 2

1. dfau (feardiat deiem) siifem & s
Hifa & frewrer aw sreama # Rrem & sileR
e SR e

2. U T TR 3T e a1 31w, 3,
e AR 3R T i Aife 36 vk e € |

it o 7T e o ST A I g
Fad 1

I 2

13 2 qHt

FAT L, TE 2

(a)
(b)
(@)
(d)

WIRA % WU % 1= 12 § Fumafenfyd o= &
Ffa g :

1. WAl €8e

2. - TSI R

3.  TUsH faumsea

4. WA H I SR

et fow T e T SRR A I AT
(a) a1 3R 3

(b) A 1,233

(€ 1,2,33R4

@ a2t

(10

32.

33.

34.

ARG Y U % Ge= * foru god fasiier &

et frafafea faart § & sR-avae-g o

e

1. orege fasierieeer & freht oft 97 & s=wor &
fore o & fder 24 & foro avrer &

2. fomrorfeR & we & FriaE § o= wE &
ST fireT STl |

3. 39 famieriterr 1 foar frames g o
fuagfras? |

et fou T e T ST A I g
(a) FaA1

(b) a2 3R 3

() Fae 132

@ 1,233

WA <l GOE | T ST % IR H fEfiad 8 &
FH-AT T TR TE R 2
(a) THH W TA & & e sfacisdw

Ih-AEE & {999 G He& 1 AF SN
FEATR

TR WATS Ueh STETEROT TR © |

3G TETT o et oft dreshiiors Hew & v
T AT ST GehaT ©, ST et TS SRR i
SAfRreRTiCaT o oft 8 TRaT & |

IS H WA A F FER FA F Q0
o |

(b)
(c)

(d)

FINEI TIhTe (Kyoto Protocol) Ffoifiaa # & forr
T a fwsr g dafta 2 2

(a) JcasH HHT
(b) SIS U 1 &

(c) FARTISARIHIET
d) Sa-fafererr geiem



80. Which of the following statements is/are correct
as per the Constitution of India ?
1. The Constitution (Eighty-sixth
Amendment) Act has added the Right to
Education to the chapter of Directive
Principles of State Policy.
2.  Right to Work and Right to Education are
both, Fundamental Rights and Directive
Principles of State Policy.
Select the answer using the code given below :
(a) 1lonly
(b) 2 only
(¢) Bothland2
(d) Neither 1 nor 2
81. As defined in Article 12 of the Constitution of
India, ‘State’ includes :
1.  Parliament of India
2.  State Governments
3.  State Legislatures
4, Local authorities in India
Select the answer using the code given below :
(a) 1land3only
(b) 1,2 and 3 only
(¢0 1,2,3and4
(d) 2and 4 only
CEBN-S-GKL

32.

33.

34.

(11-B)

Which of the following descriptions with regard
to Parliamentary Privilege for Members of the
Parliament of India is/are correct ?

1.  The Speaker is empowered to refer suo

moto any question of privilege for
investigation.

2. A question of privilege is accorded
priority over other items in the List of
Business .

3.  The privilege extends to freedom from
preventive arrest or detention.

Select the answer using the code given below :

(a) 1lonly

(b) 2 and 3 only
(¢) 1and2only
(d 1,2and3

Which one among the following statements

about an adjournment motion in the

Parliament of India is not correct ?

(a) Its objective is to draw attention of the
House to any recent matter of urgent

public importance.

(b)

Adjournment motion is an extraordinary
procedure.

(¢) This motion can be invoked on any
matter of urgent importance that may
even be within the jurisdiction of a State

Government.

(d)

The Chair has absolute discretion to
refuse consent.

The Kyoto Protocol specifically relates to which
one among the following issues ?

(a)

Emission reduction

(b)  Ozone layer depletion
(¢)  Chlorofluorocarbons
(d)

Biodiversity management



35.

36.

37.
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frefafaad & & =9, 1947 # fawrem & e wra
3R wifhem & e dmel & dwie % i
JETT o1 2

(a) T efoas
(b) wiER g
(¢) o Aopwires
d) AR ITHR

AT AT S, gyt (qeere) Ted % A,

Freferfiaa & & #-a1 Foa adt 787 2 2

(a) TENT % i § FAY O ATl T8 Teel ST
(girl student) off |

' fafewr wra & weeh ufeen foums
(legislator) f |

(c) d& fafercar sFe@rft (medical professional)
off |

3 1956 H WA ToT JOERT & weTia fopa
|

(b)

(d)

“fh & F1 AT AT F T (mind) F e 2,
safery wrifer it e off T % qeg § & = S
=nfew | =g feouvit wah Tz w9 & Frfofaa R
3 & wfeeae o fierd & 2

(a) fag @y gmeq

(b) ¥ Ty ferer, Aqien i wivpfer draa
(c) ORI TEATY Jrstt Uit

(d) EFH Ty AT 3w wfteg

frefafiaa # & - 3 T % @ o

39.

40.

(12-B)

T -&A T HHT AT 78T e € 2
(a) dIdIE

(b) TmfRET

(c) foreemfaan

N

d) dEE

Freafafaa d @ sR-a/a s ad 22 2

1. vuw faftr s 3 syt 4 dfear, 1860 #
weqfer &t off |

2. YR 4 Hfear, 1860 FI W =3 i,
2023 FR qUia: Sfcreenfia faram mar 2 |

it fow e e T e R I g
(a) Fad1

(b) FAA2

(¢) 132 3Ht

(d Fdr1,TH2

R 7 fer arf o1 & e & deiy § freferfag
FT 9T femm Fifs

1. YT SR g TS 9o fser ot st &y
ST TTCTsh STTIIT & 1 & ST ST 2 |

2. T THR g TS et fser ot s
HEe STRINT & AT & ST ST 2 |

ST § & FH-F/FA-Y F G /R ?
(a) a1

(b) a2

(0 132 3t

(@ Fdr1, g2



85. Who among the following was responsible for
demarcating the borders between India and
Pakistan during the partition in 1947 ?

(a)  Cyril Radcliffe
(b)  Mortimer Durand
(¢) Henry McMahon
(d)  Arthur Belfour

36. Which one among the following statements
about Dr. Muthulakshmi Reddy, a freedom
fighter, is not correct ?

(a) She was the first girl student to be
admitted into a men’s college.

(b) She was the first woman legislator in
British India.

(¢c) She was a medical professional.

(d) She was honoured with Bharat Ratna in
1956.

87. “Since wars begin in the minds of men, it is in
the minds of men that the defences of peace
must be constructed.” This observation can be
found in the Constitution of which one of the
following Organs of the United Nations ?

(a) World Health Organisation
(b) United Nations Educational, Scientific
and Cultural Organisation
(¢) International Atomic Energy Agency
(d) United Nations Economic and Social
Council
CEBN-S-GKL

38.

39.

40.

(13-B)

Which one among the following countries
does not share its territorial boundary with
Ukraine ?

(a) Poland

(b) Romania

(¢) Lithuania

(d) Belarus

Which of the following statements is/are
correct ?

1. First Law Commission recommended
Indian Penal Code, 1860.

2 Indian Penal Code, 1860 has been
completely replaced by the Bharatiya
Nyaya Sanhita, 2023.

Select the answer using the code given below :

(a) 1only

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2

Consider the following statements with regard
to the setting up of the Backward Class
Commission in India :

1. The First Backward Class Commission,
set up by the Government of India, is
popularly known as Kaka Kalelkar
Commission.

2 The Third Backward Class Commission,
set up by the Government of India, is
popularly known as Mandal Commission.

Which of the statements given above is/are
correct ?

(a) lonly

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2



41.

42,

43.

45.

CEBN-S-GKL

ThEM  (blood pressure) F T ®9 F
(manually) AT99 & o1 forer Suartor 31 S9=T R
ST R ?

(a) mﬁﬁtﬁ'{((Sphygmomanometer)

(b) USRS (Centrifuge)

(c) Sé@m(Electrophoresis)

(d) ogde |IgFR (Thermal cycler)

AT (Myopia) T fore =1 & off ST STaT 2 2
() gfea

(b) frewe-gfEar

(c) 1’ﬁﬁ'ffﬂ%i'g(Cataract)

(d) IR (Presbyopia)

gemeEi ¥ @t W ogEd sfasedt wferhr

(Endoplasmic Reticulum) ‘lg’\?ﬁ (rough)’ 41

feadt 2 2

(a) 3! T T UgSEm i Iufeufe & sHor

(b)  Heh HefE T TgeErm ot rqafeerfa & o

(c) e HaE T ATSHIET (Tgh) i Juftafy
& HRT

(d) 3Hh WAE W ATGEIHIGAT (GAHUT) Y
Iufterfe 3 o

Frferiaa & & -1, aey g 78T & 2
(a) TS=sfeiT (Gibberellins)

(b) Ufsufees W (Abscisic acid)

(c) AIfFEH (Auxins)

(d) IR (Thyroxine)

A H W e g (Fifereh e g d
(a) Hg 9T 80 mm

(b) Hg T 100 mm

(¢) Hg@ 120 mm

(d) HgdhT 140 mm

46.

417.

48.

49.

50.

(14-B)

TS (Sponges) F=fafed & @ forg g (HTSET) &
Heifera & 2

(a) U (Porifera)

(b) wIIRfeHA (Platyhelminthes)

(c) TSR (Cnidaria)

(d) WAfAST Annelida)

AT (Lactose) foad sH1 8T 8 2
(a) W‘E@H

(b) T IR TS

(c) ﬂ;ﬁvaﬁwﬁq

@) T 3R e

USITeH ST | AR bt 3Seifta e &, g e
Wit 37t Here it a1 €, 3w fhe e
Hafifa foram ST 2 2

(a) GHUSTEH (Isoenzymes)

(b) |9ENTH (Isotopes)

(c) EHEIET (Isomers)

(d) HEUSTEH (Coenzymes)

forelt aTe%ar 370 & fohe ahrele ooy B & 2

(a) 2

(b) 3
() 4
@ 5

w3 8 O foig e @ o e sifred
(photoreceptor cells) ferm™ Tt a1t € | 38 1
FEAE 2

(a) TIfdeRT (Fovea)

(b) 3% feig (Blind spot)

(¢) 3Fiw fofg (Dark spot)

(d) FF-HIT (Orbit)



41. Which instrument is used to measure the blood |[46. Sponges belong to which one among the

pressure manually ? following phylum ?
(a) Sphygmomanometer (a) Porifera
(b) Centrifuge (b) Platyhelminthes
(¢) Electrophoresis - (¢) Cnidaria
(d) Thermal cycler (d) Annelida
42. Myopia is also known as : 47. Lactose is made up of :
(a) Far-sightedness (a)  Glucose only
(b) Near-sightedness (b)  Glucose and Fructose
(¢c) Cataract (¢)  Glucose and Sucrose
(d) Presbyopia (d) Glucose and Galactose

e Why‘ s ,the i & E ndoplasmic Reticulum 48. The enzymes which catalyze the same reaction
look ‘rough’ under a microscope ?

(a) Due to the presence of ribosomes on its but have different amino acid compositions are

surface commonly referred as :
(b) Due to the absence of ribosomes on its (a) Isoenz&mes
surface

(¢) Due to the presence of lysosomes on its (b); | Inetepea

surface (¢) Isomers
(d) Due to the presence of mitochondria on (d Coenzymes
its surface

44. Which one among the following is not a plant 49. How many Carbon atoms are present in a

hormone ? Pyruvate molecule ?
(a)  Gibberellins (a) 2
(b)  Abscisic acid (b) 3
(¢) Auxins () 4
(d) Thyroxine @ 5

45. The normal systolic pressure in human beings|50. The human eye has a point that lacks

is: photoreceptor cells. This is identified as :
(a) 80 mm of Hg (a) Fovea

(b) 100 mm of Hg (b) Blind spot

(¢) 120 mm of Hg { (¢) Dark spot

(d) 140 mm of Hg (d) Orbit

CEBN-S-GKL (15-B)



51.

52.

53.

54.

55.

CEBN-S-GKL

el % GHHTRE (Isobars) &

(@) ATV W A el # |
(b) SAFZHT Y HEAT GHH BT B |
(c) FoAH AT M Bl & |
(d) = hT T T B R |

@RS & TR T Ao & fFefofaa § &
Torereht =T 7t it st 2

(a) o] i feerar

(b) AT % 3§ 1fireh Y Jufeafa

(c)  TRATY A AT 3 ST T o

(d) e eTafi e &

afe, foreft et St vy W 11 2, o W AW, St
I G rStehelT T B 2

(a) AfRM, Li, 1

(b) fifIrm, Mg, 2

(c) @RH,B,3

(d) ?ﬁ%'q'q,Na,l

ﬁwf‘aiv‘aaﬁ'@r%aa;rmagﬁw (soft drinks)
A F fRaT Sar @ 2

(a) NHg4

(b) PH,

(e COCI,

(@ CO,

et & & ford i amr smar 2 2
(a) fafasa

(b) f=

(c) =t er et

(d) Hfeway FEie

56.

517.

58.

59.

60.

(16-B)

RIS FT N il = T HT-H0T FhIT =T
foraeht @19 & fou SReri 2 2

(a) FgH

(b) FHERH

(¢ RN

(d)  THTOT AT

freferfiaa & & F19-91, T 39-4Tq (metalloid) & ?
(a) wHFREH

(b) FIF

(¢) STEEH

(d) = ()

Sreed & o fagia g Freferfad & & freeht

AT T FI TR 2

(a) SoIHT HTEI0T T I

(by TRer weres =1 foam

() Torell wemmyy 3 fafir=y webmt 3 StarmeaToges it
(sub-atomic particles) =t feremaT

(d) TP srguTa v e

Feafafeada ﬁﬁlﬁ, auft g 3T (Lewis acids)

3,

(a)  AICl,, Co®*, BF,

(b)  BCly, NH,, OH-

(© Mg*, H,0,F

(d) BF,, NH,, H,0

H;, He, H, 3t 0, wfiefis # foremm soagti 4t
SHUYT: HEATR

(@) 1,2,2,15

(b). 1,2, 1, 14

(. 22216

@ 0,21,14



51. Isobars of elements have same :
(a) Atomic numbers.
(b) Number of electrons.
(¢) Mass numbers.
(d) Number of neutrons.
52. Which one of the following could not be
explained by Rutherford’s nuclear model ?
(a) Stability of the atom
(b) Presence of nucleus in the centre of an
atom
(¢) Comparison of sizes of atom and nucleus
(d) Nucleus is positively charged
53. If atomic number of an element is 11, the
correct name, symbol and valency are :
(a) Lithium, Li, 1
(b) Magnesium, Mg, 2
(¢) Boron, B, 3
(d) Sodium, Na, 1
54. Which one of the following gas is used in
making soft drinks ?
(a) NH,4
(b) PHg
() COCl,
(d CO,
55. Which one of the following is considered as a
compound ?
(a) Silicon
(b) Tin
(¢)  Sugar solution
(d) Calcium carbonate
CEBN-S-GKL

56.

58.

59.

60.

(17-B)

Rutherford’s a-particle scattering experiment
on gold foil is responsible for the discovery of :

(a) Neutron

(b) Electron

(¢) Proton

(d) Atomic nucleus

Which one of the following is a metalloid ?

(a) Germanium
(b) Coke

(c) Iodine

(d) Sugar

Which one of the following is not explained by
the Dalton’s atomic theory ?

(a)
(b)
(c)

Law of conservation of mass
Law of constant composition

Presence of different kind of sub-atomic
particles in an atom

(d)

Law of multiple proportion

Which one of the following contains all Lewis
acids ?

(a) AlCl,, Co®, BFy
(b) BCly, NH,, OH™
() Mg?, H,0,F
(d) BF,, NH,, H,0

Number of electrons present in the species

H; , He, H, and O; respectively are :

@ 1,2,215
® 1,21,14
© 222,16
@ 021,14



61. FY — 2024 ¥ 9T o =a1q1ies fafd & wevi & gay
7 frforfaa et o fermm i
1 HEi, v 3R o fewrs agett S|
ﬁgﬁwm (capital goods) %@ﬂﬁﬁq@
7Y et 3 |
2. SUNIHT 31?0{@[ (consumer goods) 3R
weadt a@pﬁ (intermediate goods) T
et d afa g |
ST H W FH-A1/HH-H FU e B ?
(a) FaSA1
(b) Fad 2
() 13R2 A
(d Far1,TH2
62. YISl AaaH (Project Nexus) %ﬁi‘qﬁﬁ, Frafafaa
FH ST HIT L] 2
(a) TN o St Hf¥eht ok STERTHA T G7e s
% foTu uen Siqrrd wHaiar |
(b) FE HIHT-IR Teehied GaU YA i ool
% e v sl tEe ® |
(¢) IE 3 F sfrar Nrenfiehr exiawr & e o
AL TEA # |
(@) % foxftar GUTEYTH W SeeE s & foe wh
S gHET £ |
63. ITHIH o FaHh HI AT I G, “HATETE
(housing)’ ﬁ@m%mﬁ%@rmﬁwﬁiﬁ%m
SR ?
(a) @ s Susimr 9% (Core consumer
durable)
(b) Hg@'mff{-m %] (Core consumer
non-durable)
(c) Wﬁfﬁ"ﬁﬂ%@ (Core capital goods)
(d) q@@rﬂ (Core service)
CEBN-S-GKL

64.

65.

66.

(18-B)

fraferfaa & & fore, Wi # yeer A awar g
(Global Capability Centre) TTUa faar 2

(a) @1 (Honeywell)
(b) &S (Citibank)
(c) 2T $EZHEH (Texas Instruments)
(d) THUH s AT (SAP Labs India)

frmfofad & & sF-avaR-8 gw we gafea 72f
2

1. Afies qea Eand ;ST Iane g
(GVC) HET

2. TEELEWEIE : GVC U Heifdr sAR
HiegE T ST

3. we@ErERr o foest v e
(CAD)

i o 7T 3z i1 SRR I g

(a) Faer 132

(b) Faer 233

(0 FaA3

(d 1,233

ST HARE (Currency depreciation) (e CarE:]
e f1afd (net exports) 1 gt AT o ket
27

1. frata s & & e

2. AT HHAl A HH FH

et o T e 1 ST A I g

(a) a1

(b) a2

(@ 132 aFr

(@ Fdr1,aEre



61. Consider the following statements with respect
to performance of the merchandise export of
India in FY — 2024 :

1.  Share of capital goods such as machinery,
equipment and other durable goods
decreased substantially.

2. Share of consumer goods and
intermediate goods increased.

Which of the statements given above is/are

correct ?

(a) 1lonly

(b) 2 only

(¢) Bothland2

(d) Neither 1 nor 2

62. Which one among the following statements
about Project Nexus is correct ?

(a) It is an international agreement to
enable labour movement between
countries.

(b) It is an international initiative to enable
instant cross-border retail payments.

(¢ It is an international initiative to
transfer technology between countries.

(d) Itisaninternational agreement to create
database on financial inclusion.

63. While calculating the consumer price index,
‘housing’ as an item is classified as :

(a) Core consumer durable

(b)  Core consumer non-durable

(¢) Core capital goods

(d) Core service

CEBN-S-GKL

65.

66.

(19-B)

Which one among the following established the
first Global Capability Centre in India ?

(a) Honeywell

(b) Citibank

(¢) Texas Instruments
(d) SAP Labs India

Which of the following pairs is/are not correctly

matched ?

118 Global Value International
Chains (GVC) Product Sharing

2. World Integrated Database on GVC
Trade Solutions related Trade

3. Current Account Foreign Direct
Deficit (CAD) Investment

Select the answer using the code given below :

(a) 1land2only
(b) 2and 3only
3 only

(d 1,2and3

How can currency depreciation stimulate an
increase in net exports ?

1 By reducing export costs

2. By reducing import prices

Select the answer using the code given below :

(a) 1lonly

(b) 2 only

(¢) Both1land2
(d) Neither 1 nor 2



67.

68.

69.

70.

CEBN-S-GKL

o ﬂﬂ@ﬁﬁr (Core inflation) ® :
(a) CPI Tears Gaehife & auft @ 58 sem

T

(b) WP Hsehifa & wvft @rer 3R @reiat 7d sre
w

(c) CPI TS HEHIfd & @Ter 37N St 72 s

W
(d) WPIEEHIfd & @rer 3R e 78 gem W

NEP 2020 % fem-frésit & s1&q, “qror off geré
ot (PBPB), Fi=fefiaa & & fore wrfer & orefi
R 6T 7S oft 2

(a) whIeha fiereh wfreror FHrdshe

(b) fomm AW

() TR STeTaEeT d@wTe 39 frer
(d) T fre s

Fr=ferftaa & & w-ar, Y § st FRT (flexi

workers) Eﬁqﬁmﬁam% ?

(a) unf3a dfder & wream & fifoa s
Hfeer =

(b) &l & § W FE O e 89 %
=T

(c) et &t H Ware & aTet iy Afieh

@) Wriwa wufEt & ®0 F@ g FHafa
FATIRTT TR

ffafad & & #9-ur, vhiwa e gfiwor
FRAFA R 2

(a) foremwAw
(b) BT (NISHTHA)
(c) Tormnsifer
(d) e (DIKSHA)

71.

72.

73.

74.

(20-B)

Frafafed & & #-ar, 39 o & da @ (Gen d
FUHT?

(a) sErd

(b) HETEEH

() Hgar
d ==

EGUTS el § Ffetiad # & H-81 ¥ (motif) 78T
frearg 2

(a) FESIXIIH

(b) ®rft

© f=

(d wR

frferfaa oot & & o v wreh & 2
(a) T T A1ZFIMTEH

(b) Gga diear

© st

@ #gEhd

79T & Rreredt & ai #§ fafafag § & S9-ar
FYTHEI R ?

(a) A fire wer Rrciere depa # 2 |

(b) forew @ w1 Rremere et weforg § ey € 1

(c) et wer firetrera # sfeim 3 1 Seorg fomar
TR

(d) SHIES | FHIerH! 7er Remeat #1 a2 |



67. Core inflation is :
(a) CPI headline inflation minus all non-food
items
(b) WPI inflation minus all food and
non-food items
(¢) CPI headline inflation minus food and
energy items
(d) WPI inflation minus food and energy
items
68. In alignment with the guidelines of NEP 2020,
‘Poshan bhi Padhai bhi’ (PBPB) was launched
under which one among the following
programmes ?
(a) Integrated Teacher Training Programme
(b) Vidya Pravesh
(¢) Early Childhood Care and Education
(d) Samagra Shiksha Abhiyan
69. Which one among the following defines flexi
workers in India ?
(a) Formal contract staff employed through
organised contract
(b) Informal sector employees working in
urban areas
(c)  Agricultural labour migrating to urban
areas
(d) Regular salaried workers working in
registered companies
70. Which one among the following is an integrated
teacher training programme ?
(a) Vidya Pravesh
(b) NISHTHA
(¢) Vidyanjali
(d) DIKSHA
CEBN-S-GKL

1.

72.

73.

74.

(21-B)

Which of the following is one of the ‘three gems’

(triratna) of Jainism ?

(a) Brahmacharya

(b) Samyag-darshana
(¢) Sunrita

(d) Asteya

Which one among the following motifs does not

appear on Harappan seals ?

(a) Humped Bull
(b) Elephant

(¢) Lion

(d) Crocodile

Which one among the following is the earliest
text ?

(a) Natyashastra of Bharata

(b)  Sushruta Samhita

(c) Ashtadhyayi

(d)

Manusmriti

Which one of the following statements about

Ashoka’s inscriptions is correct ?

(a) The Major Rock Edict found in Kerala is
in Sanskrit.

(b) Minor Rock Edicts in Bihar are found

only in Pataliputra.

(¢) The Dhauli Major Rock Edict makes a
mention of the Kalinga War.

(d) Kalsi in Uttarakhand is a site of Major

Rock Edicts.



75. 3Siifaent & I # Frefafiad & & S-a1 F97 98
TE 2
(@) TR STfer 21 3 3 ST R/ Sewrargel 7w
& fomam |
(b) % 9 i dmea it a3y sy
(canonical texts) |
(c) & UTT: 9§ W HISH Hlh, FaI TIRT F
|
(d) 3 gl fawg ST 3 Trer wraT s |
76. WA ¥ THIS (stirrup) % I & R & frefofag
FYHT T fomm ifre
1. HUTh g Hfdhen (c. 1250) ¥ TH
TAATHRIHTS (ring-stirrup) TeRIT & |
2. GYURl Afdwarsit @waa: 10af varsd) #,
T el HYad: I8 I, e feEms year i |
3. dtedt yraTsdt % we ¥ et geaa $ Aarei
H IR o TohTel T ITANT f3haT STTaT o7 |
ST # § /e shem e 2/ 2
(@ 1
(b) .2
(©): 8
@ =
77. FEE Wew H, 3yF N syER wE 1w
Fraferfaa & & foraes frwfar 3 e frr smar o 2
(a) ©T9T (Arrows)
(b) @S (Swords)
() I (Thunderbolt)
(d) TIeT (Maces)
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78. frefefas & & #9-a1, wefir v 38 % v

79.

80.

(22-B)

(weapon) % ¥9 & RRLl (3Tt =) a‘raﬁmaﬁm
?2

(a) ST

(b) FHa
(c) TS

FHh

N

(d)

T4 (Manjaniq) W53 %1 6eY fFd 8-3qwr d
22

(a) HITSTH H SES I T STHTT

(b) oM & A 3 forw Feamett (Frarerdh) SR T

() Torell & ST %1 Ygg F & forw o Afeen
SYHTIT

(d) TRl 3t T o for weh SRt (Hrive)

Hegalc 9Rd §, fid 6o (extraction) i
ufsar # frefafan & afomreer seid guw
BT
(a) et <t st it U SeM % forg e @
3T

e & 71 % forw Fifes Sg Suewlt & v
6T IR

W?ﬁ?%ﬁ(indigo vats) & ¥fiadl Taal
m(water-prooﬂa?ﬁﬁﬁfw 3R 33%
T o7 ST

et spfreret it fir & MR e % forg
Aftrent 1 e

(b)

(c)

(d)



75. Which one of the following statements about
the Ajivikas is not correct ?

(a) They did not practise discrimination on
the basis of caste or class.

(b) They had a corporate organisation and
canonical texts.

(¢) They practised severe asceticism, often
eating very little food.

(d) They formed an alliance with Jainas
against Buddhists.

76. Consider the following statements about the
use of stirrup in India : '

1. The Konarak horse sculpture (c. 1250)
shows a ring-stirrup.

2. A Dbroad, probably wooden, stirrup
appears in Khajuraho sculptures
(probably 10th century).

3.  The iron-stirrup was used in the Delhi
Sultans’ armies from the thirteenth
century onwards.

How many of the above statements is/are

correct ? ’

(a 1

by 2

() 3

(d Nil

77. In the Rig Veda Sambhita, use of the terms
ishukrit and isukara referred to the maker of :

(a) Arrows

(b) Swords

(¢)  Vajra (Thunderbolt)

(d) Maces

CEBN-S-GKL

78.

79.

80.

(23-B)

Which one of the following does not refer to the
bow (and arrow) as a weapon of war in ancient

India ?

(a) Sharnga
(b) Kunta
(¢) Kodanda

(d) Karmuka

What is the military-device referred to by the

term manjaniq ?

(a) A device for loading field-guns with
gunpowder

(b) Preparing cavalry for rapid charge

(¢ A bolting device for strengthening the
gates of forts

(d) A device for throwing stones (mangonel)

In medieval India, the process of indigo
extraction underwent great improvement as a

result of the :

(a) use of fertilizer enhancing the quality of
indigo crop.

(b) introduction of mechanical crushing tools
for indigo stems.

(¢) use of gypsum and lime mortars in
making the inner surfaces of indigo vats
water-proof.

(d) employment of slave labour in quick
desilting of indigo crucibles.



81.

82.

83.
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formerr & faenfiat & drad ¥ fg, ser g
R fag % & # fafea frg e fefofaa § &
T 37T57-g-srapartt 3 gefter faram maT & 2

@) 3gER

(b) T

(¢ 7fm

@ oy

T # T 5 3 % fore sweiT fopu o wreAt &

ar & ffefaa st w fmm fifte

1. Ticieds amft 3335 A HET (wet
weather) 4 off SRt ot HeRdt off |

2. WM (bayonet) % g7 ¥ dg frahe wwTed
(close combat) H 3R TuET 3fkx WqHTh
I S TR |

3. fieaidr (wrought iron) FATF A F A
ST S AT S o7 |

STIT # § e/ e el 2/ 2
(a)
(b)

(c)
(d)

9ﬁwwH

ST HTATEH & o # fferfad & & st
FTTEIR 2

(a) a8 UIfOTT o GHeRIeh 9 |

(b) T UTSITT o GHFRTAT I |

(c)  TahT aler qforf 3R weistfer & sff=r <t a7afer
g

IR HeY OIS gdsifer ST st Soad]
AR :

(d)

84.

85.

86.

(24-B)

Fodg i et & T H, FrafRaa T @ S-ar T
wdrR o

(a) SN ST & A HT TAH S |
(b) Terftareft Ham yom Fedt 2 |
@) RfTsmFaRh|

(d) TR FH AR

g 3t Bt % A & Frafofas 8 & S9-ar a9
adte?

@ 98 7 I oy 78 ¥ & R
Tq-areT # witafdla e o |

98 IH  H HESt w9

personification) ¥ |

(c) I& AN I 3T HEH 9T & T=T & |
(d) 9 IV & Hag T DT 3 & |

(b) (feminine

wfefearsh wTeT Sravisr & fawr & fefefas st w
ﬁiﬂtiﬁﬁﬂ{:

1. I8 St yrarsdl aeh ARRT (recognizable) §9
7 T off |

2. € Yhd IR WA & A 8 ef-smaredy
a firsror & forpftra &€ |

I | W HH-A/HH-A Hu e 2 2
(a) FadA1

(b) FIA 2

(¢ 132 aH

(d Aa1,TdH2



81. Which one of the following is listed in the Ain-i
Akbari as one of the ‘Indian sciences’ prescribed
by Akbar for scholars to learn at school ?

(a) Ayurveda

(b) Vyakarana

(¢) Ganita

(d) Jyotisha

82. Consider the following statements about the
arms used by Europeans in warfare in India :
1.  The flint-lock muskets could work even in

wet weather.

2.  The addition of bayonet made musket a
more effective and dangerous weapon in
close combat.

3. The wrought-iron cannon barrels were
easy to move and manoeuvre.

How many of the above statements is/are

correct ?

(a 1

(b) 2

()= 8

(d) Nil

83. Which one of the following statements about
the grammarian Katyayana is correct ?

(a) He was a contemporary of Panini.

(b) He was a contemporary of Patanjali.

(¢) He belonged to a period between Panini
and Patanjali.

(d) He belonged to a period later than both
Panini and Patanjali.

CEBN-S-GKL

85.

86.

(25-B)

Which one of the following statements about
Rig Vedic goddesses is correct ?

(a)
(b)  Sinivali bestows children.
(¢) Aditi is goddess of dawn.
(d)

Ushas represents freedom from sickness.

Raka is goddess of speech.

Which one of the following statements about
the Buddhist Goddess Hariti is correct ?

(a) She was converted by the Buddha from a
blood-thirsty yakshi to a benevolent
maternal figure.

(b) She is the feminine personification of

wisdom.

(¢c) She protects people from eight great
fears.

(d)

She is a warrior goddess associated with
the dawn.

Consider the following statements about the

literary language Apabhramsha :

1 It appeared in recognizable forms by the
sixth century.

2. It developed out of mixtures of regional

vernaculars with the Prakrits and

Sanskrit.

Which of the statements given above is/are

correct ?
(a) 1lonly
(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2



87. ST ST 3 W, 5 O B | o oy o 3 v i e R 2 &, v

SHfaeTE 1 T e i 2
ma&wﬁﬁmﬁg@%ia‘ra&wﬂa& :
(a) WEMEAR
Py (a) GHAAR
(¢) s (b) AR
(d) aTerefd (¢) IAR

(d) AT EHAA & ATITA &

88. fmfcifiaa & & formr warm  svfie @ad F wia i
SIefaTyg, SEehl NI, EAq: HEhd, $Hh Fel T

it st 7t oo for e el Y s 2 2

(a) FI9I-T Gawat 92. ot forra ermradt e =eieh (straight conductor)
(b) 3t Tt s @ & IR 3 3 qaehi & i e Fuifa w0
() @I B e arer frm E

@ TR (a) cforew sie fFew

(b) FATHT 1 IR e

89. 3IfSTEd! YrdTsdl & ARk aNT H, aier Hy T (¢) AT 7 efqureed fag
wgram 3 Frafafas 8 @ e w2

(@) dewfam
(a) oHTTA i
(b) TragHidT
(c) HHHE
@ faEmga 93. U et aTSibeT 1 ST 3T 5 mis B 1 3 FVE

UET, 3T 7 m/s B STTAT & | Wit arsiehet 1 3 A0S
90. fmfafaa & & F-a1 adum Tsa-87, 3T # foreemam g

ATHTS 1 EATSA A AT o 2

(a) ST =Y, 3TEY e g
) ﬁ (b) 18m
() I T () 36m
(d) weRE (d 6m
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87.

89.
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Who composed Zainavilas, a history of the
rulers of Kashmir, in the time of Zainul
Abidin ?

(a)
(b)  Jonaraja
(¢c)  Shrivara
(d)

Bhattavatara

Vachaspati

In which one of the following works has Amir
Khusrau praised the climate of India, its
languages, notably Sanskrit, its arts and music
and even its animals ?

(a)
(b) Dewal Rani Khizr Khani
(¢c) Khazainul Futuh

(d) Nuh Sipihr

Ijaz-i Khusrawi

Which one of the following works was written
in early eighteenth century by the Bengali poet
Rameshwar Bhattacharya ?*

(a)
(b)  Shivsankirttan

Dharmamangal

(¢) Mansimha

(d) Vidyasundar

Which one of the following present day
territories was outside the limits of Ashoka’s
empire ?

(a) Brahmaputra valley, Assam

(b)
(¢) North Bengal
(d)

Baluchistan

Kashmir valley

91.

92.

93.

(27-B)

If your image appears to be erect, no matter
how far you stand from a mirror, the mirror is

likely to be :

Plane

(a)
(b) Concave
(¢) Convex

(d)

Either plane or convex

The rule that determines the direction of a
magnetic field produced around a straight

conductor carrying current is :

(a) Right-hand thumb rule

(b) Fleming’s left-hand rule
(¢) Fleming’s right-hand rule

(d) Hund’s rule

A motorcycle has initial velocity of 5 m/s. After
7 m/s. The

displacement of the motorcycle in 3 seconds

3 seconds, the velocity is

is :

(a 21m
(b) 18 m
() 36m
(d 6m



94,

95.
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ot 50 kg % 5= F1 10 s 7 8 m i Feater gt
e I3 o foTe Smararss =aw ot 2 -

(9T ST g = 10 m/s?)
(a) 400 W
(b) 40W
() 50W

(d 500W

Fraferfad & & FiH-a1 o gt 787 2 2

st # et fig ecERtr a9 & FH0T o
TE HT HATH F E |

T T TecdrehNvT e =ge it 7 & fram
T R |

gl % %% g (Teeli o) T A A R |
FEHM 3R 9 1 - T (units)

T ST R |

(a)

(b)

(c)
(d)

13 fire forelt et o e e B, S Secre o
3G R % S |

IqH MR AFAE |

Ik T A e |

pekl

(a)
(b)

(c)
(d)

97.

98.

99.

100.

(28-B)

()

1 kg FoFHH 3 AT 2 x 10~ m?3 1 T &1 1
T [ T & St § ga g B | e 0 et g
T T JeeATa & & -

(feam T & : STt 1 99 1000 kg/m?3, g = 10 m/s2)

(a) 05N
(b) 15N
(© 2N

d 25N

220 V I 60 W T a1et Tk SRl siew & Rl &
= 110 V o1 faviaiot @ | 39 Yo s &7 2
areft forga =it (power) ® :

(a) 30W
(b)
(c)

(d)

45W
15 W
2W

T Gtet gewent § frforfiaa & & fres s
ST e 2

STTERT A (Diverging lens)
319qd 9T (Concave mirror)
AT S (Converging lens)
A TUT (Plane mirror)

(a)
(b)
(c)

& a1 & godlt forelt awq 1 e et B, 5w
FEAE :

(a) T AR

(b) T BT A

(¢) TE A

(d) % I i



94. The minimum power required to lift a mass of
50 kg up to a vertical distance of 8 m in 10 s
is : (Take g = 10 m/s?)
(a) 400 W
(b) 40W
() 50W
(d 500W
95. Which one among the following statements is
not correct ?
(a) All bodies in the universe attract each
other due to the gravitational force.
(b) Newton’s law of gravitation follows from
Newton’s laws of motion.
(¢) The value of g (acceleration due to
gravity) at the centre of the Earth is zero.
(d) Mass and weight are measured in
different units.
96. A body floats in a liquid if the buoyant force is :
(a) equal to its weight.
(b) less than its weight.
(¢) greater than its weight.
(d) zero.
CEBN-S-GKL

97.

98.

100.

(29-B)

A metallic sphere of mass 1 kg and volume
2 x 10~* m? is completely immersed in water.
The buoyant force exerted by water on

the sphere is :
(Given : density of water = 1000 kg/m?,
g =10 m/s?)

(a) 05N
) 15N
(0 2N

(d 25N

A light bulb rated as 60 W at 220 V has a
potential difference of 110 V across its ends.

The power dissipated in this light bulb is :

(a) 30W
(b) 45W
(0 15W
d 2W

Which one among the following is used in a

simple microscope ?

(a) Diverging lens
(b) Concave mirror
(¢) Converging lens
(d) Plane mirror

The force with which the Earth attracts an

object is called :

(a) Weight of the object

(b) Mass of the object

(¢) Density of the object
(d) Magnitude of the object



101.

102.

103.
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N

fopeft T & SN I fedias 9 (S-Waves) &

dax 7 fferfiaa et w famm fifv

1. 9 for vared & Tt € 3w m it st
g

2. S-atm & o i e At aer #, atr i
foem & Saaq At B |

ST | FH-F/HH-Y FU G /R ?

(a) a1

(b) FaeT2

(¢ 132 A

(d Fdary,a@2

e @i O geiftra Freferfad fasiaret & smarw
3G @i T geuH i ;

I I 9W=a: & e ear e |

I 98 Y Seredt 9 8 e S € |

1L Ffifirem, it ok fafer so ger aw €
=t fow e e it T R I g

(a) UFhETEE

(b) SR

(c) s

@) S

qau gy % ged #, ffefad d 4 #way

FH-8 FYT G/ 2

1. &ft Fav-eme gfskett § wau free
o 3fersh g9t 2 |

2. T AT H qET F Hawrdt et § oo
forea @i d ﬁﬁi (crystal growth) 3if¥reh
Tt Bt ® |

it faw T e T R A I g

(a) a1

(b) FaA2

(¢ 132 At

(@ Tdr1,TE2

104. A9HE % ‘ﬁ'ﬁ’q SYcshHYT (Surface inversion) *

105.

106.

(30-B)

Haxf & Frforfia # & $-a1/#H-8 T e 278 2

1. ¥ agsd & frae @l § sifeerar 3a=
FATL

2. FE oAV HHIIG: §F % FW TG ¥ UE
S Hel 7 T g |

it few T e o SR I g

@ a1

(b) e 2

(€ 13R2IE

@ ddrL,adre

A9 & geifera Freferfaa sifirereri & smar w sadht
Wiﬁﬁ!q:

I IEficeREEad)

II. 3ot en E it I SR € |

III. 3 |THIE: 4 ¥ 7 km Y SE WA 8 |
it faw T e v I g

(a) e HY

(b) Tt AT

(c) auidm

(d) T

SRy ¥ Hefed frafafad s % smam w
I T i TE=H T

I T TR 35 Eae |

I a9t aftedeiier €t & o g o wem oy
I 37 wiew e Erar E |

e 3N e Y STy 36 THR H FeAarg
1 T ST & |

i faw T e 1 v I g

(@) ST Rt Sy

(b) wex iz wdt

(©) IUREHEEH AgT Sty

(d) SWrEHTESH AT 3R I Serarg

III.



101. Consider

statements with
(S-Waves)

the following
reference to Secondary waves
generated during an earthquake :

p They create troughs and crests in the
material through which they pass.

2.  The direction of vibrations of S-waves is
perpendicular to the wave direction in
the vertical plane.

Which of the statements given above is/are
correct ?

(a) 1lonly

(b) 2only

(¢) Both1land2

(d) Neither 1 nor 2

102. Identify the Mineral on the basis of the
following characteristics relating to it :

) It is usually a greenish crystal.

II.  Itis often found in basaltic rocks.

III. Magnesium, iron and silica are its major
elements.

Select the answer using the code given below :

(a) Amphibolite

(b) Feldspar

(¢) Pyroxene

(d) Olivine

103. Which of the following statements with
reference to Salt Weathering is/are correct ?

1. Salt crystallisation is the most effective
of all the salt weathering processes.

2. Salt crystal growth is more effective over
sedimentary rocks as compared to
igneous rocks.

Select the answer using the code given below :

(a) 1lonly

(b) 2 only

(¢) Both1land2

(d) Neither 1 nor 2
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104.

105.

106.

Which of the following statements with
reference to Surface inversion of temperature
is/are correct ?

1. It causes instability in the lower layers of
the atmosphere.

2.  This inversion commonly lasts for a few
hours until the Sun comes up.

Select the answer using the code given below :

(a) 1lonly

(b) 2only

(¢) Bothland2
(d) Neither 1 nor 2

Identify the cloud on the basis of the following
characteristics relating to it :

I They look like cotton wool.

II.  They exist in patches and have flat base.

III. They are generally formed at a height of
4 to 7 km.

Select the answer using the code given below :

(a) Cirrus

(b) Cumulus

(¢) Nimbus

(d) Stratus

Identify the type of climate on the basis of the
following characteristics relating to it :

I Temperature is high throughout the
year.

II.  Rainfall is variable with a short wet
season and a longer dry season.
III. Climate of Sudan and Paraguay is an

example of this climate type.
Select the answer using the code given below :

(a)

Sub-tropical steppe climate

(b) Mid-latitude steppe
(¢) Tropical monsoon climate
(d) Tropical wet and dry climate



107.

108.

109.

110.
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Teferfaa eavit 1w srer # S foremm am 3%
SFTHR STE 77 7 Tl STTphe T 8 2

1. HicHam FEHe

2. HfcuTH g

3. Aifiem FinEe
ﬂ%ﬁwmﬁammﬁMRaﬂ?w:

(a)i 85152

B LR

(e)-51,2:38

@ =253

TwE % dedf #, frafafad § § FR-avae-a s

AR ?

1. TR T reafRd e R

2. IS FHIA HT & o HIT, T U5 3 WK
FHE FATE |

i faw T e T R AR I g
(a) aA1

(b) FaA2

(¢) 132 M

(d Tdary,ad@2

Frafefaa & & FH-a1 sEehi fvd, yra § &9
TSI A FATGIR 2

(2) femim (=i Saim

(b) @i

(¢) TrRGH

(d) e

eit (S7g) et g0 o freaferfaa forer Trstert
T g TeT et 2 2

(a) ERDES

(b) TR

(¢c) 9T

(d) fo=m

111.

112.

113.

(32-B)

Tre frw e e f s ¥ i 4
e & & -2 o T 2 2

1 ¥ diferfirn o e g |

2. ¥E Sfwr @R e fueft w1 wsu-dw
(territory) ¥ |

et fow e e w1 T A I g
(a) FHaA1

(b) a2

() 132 qF

(d Far1, &2

frafafgs & @@ 9w, ofer & iR
(endangered) L AT HTE R 2

(a) WIS HAT
(b) W3 feRferssmr
(¢) TRIATRY $het
@ fEmTET

STeq & e #, Frefafas § & S-araa-a Fu=
e 2

1. woH faegs % e ffesr AR (British
Mandate) % ST SITSH 237 I SHTET 74T T |

2. ¥8 TS ¥ foRT (landlocked) 39T % |
=i R T e T s e e
(a) a1

(b) a2

(@ 132 At

(@ Fdar1, g2



107.

108.

What is the correct sequence of the following
salts in ascending order according to their
presence in the sea water ?

1. Calcium Carbonate
2. Calcium Sulphate
3.  Magnesium Chloride

Select the answer using the code given below :

(a) 3,1,2

(b)y 1,3,2

e 1,2,3

@ 2,1,3

Which of the following statements with
reference to Humus is/are correct ?

1 It is a dark coloured amorphous

substance.
2.  Being colloidal in nature, it serves as a

reservoir of nutrients.

Select the answer using the code given below :

(a) 1lonly
(b) 2 only
(¢c) Both1land2
(d) Neither 1 nor 2
109. Which one among the following Biosphere
Reserves is spread over three states in India ?
(a) Dehang Debang
(b) Nilgiris
(¢) Nokrek
(d) Seshachalam'
110. River Danube does not flow through which one
of the following capital cities in Europe ?
(a) Belgrade
(b) Budapest (
(¢c) Prague
(d) Vienna
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111.

112.

113.

Which of the following statements with
reference to Easter Island, a UNESCO World
Heritage Site, is/are correct ?

1.  Itis part of Polynesia group of islands.

2 It is a territory of the South American
nation Chile.

Select the answer using the code given below :

(a) lonly

(b) 2only

(¢c) . Both1and2
(d) Neither 1 nor 2

Which one among the following is home to the
endangered mountain gorillas in Africa ?

(a) Mount Kenya

(b) Mount Kilimanjaro
(¢) Ngorongoro Crater
(d) Virunga Mountains

Which of the following statements with

reference to Jordan is/are correct ?

I; The country of Jordan was created
through the British Mandate after World
War L.

2.  Itis alandlocked country.

Select the answer using the code given below :

(a) lonly

(b) 2 only

(¢c) Both1land2
(d) Neither 1 nor 2
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115.

116.
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o 7 oot fat vt & fee, Frfafea #§ @
-1 T e & 2

(a) b

(b) EIT T

(c) WIS

@ fomg

i F ey ¥ frefafles st w =R
Hifsa ;

1.  SITST ¥R (Coral Sea) 3T SR I t gfayor
YT & ST HATR |

2. U feansfen is siforan # Ao & of o=
Fefigs el

ST | FH-F/HA-Y FoH TR/ 2

Fad 1

FIe 2

13 2 gHt

Jary, T2

(a)
(b)
(¢
(d)

e e o i T g P e e
1 TET ST FTE 2

FHTHITH
FH

1.

2. FAG
3. wEw

4. SR

i o T e 1 e R I g
(a)
(b)
()
(d)

1,2,3,4
1,2,4,3
2,1,4,3
2,1,3,4

117.

118.

119.

120.

(34-B)

Rd § @& gar & gedf #, Frefafaa § @

FH-FI/HH-8 HoT T /8 2

1. 3 S AT # AT g 8

2. I IR iy &, U1 S 3R
TA-TA FAA MU A E |

et fow e 3z 1 T R I g

(a) a1

(b) I 2

(c) 13R2 A

(d TarLTH2

freforfiad 3 @ for et o werret forega wiomT feera
22
(a)
(b)
(c)
(d)

=T (femen)
S
T

)

o

fay 7@ i el vems afedt § & S,
femTer & 7&f frerdi 2 2

(a) frefia

(b) A

() s

(d) SR

W HAT, TRA T Y a1fieh fare 2023 — 24 %
AR, W #, Frefafad § & $19-8 wp sterse
IATEFH TSI & ?

(a) ofifem it e wew
(b) 3fifem 3 gmEE

(c) TGS AT AT Jour
(d) FREE R FAlCH




114.

Which one among the following places is
situated close to the Pearl River Estuary in
Asia ?

(a) Bangkok
(b) Hong Kong
(¢) Macau

(d) Singapore

115. Consider the following statements with regard
to Australia :
1. The Coral Sea separates the Great
Barrier Reef from the South Pacific.
2.  The Great Dividing Range extends from
Melbourne to Perth in Australia.
Which of the statements given above is/are
correct ?
(a) 1lonly
(b) 2only
(¢) Bothland2
(d) Neither 1 nor 2
116. What is the correct sequence of the following
mountain ranges as one moves from North
towards South ?
1. Karakoram
2. Kunlun
3. Ladakh
4. Zaskar
Select the answer using the code given below :
(a 1,2,3,4
(b)) 1,2,4,3
() 2,1,4,3
@ 21,3,4
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Which of the following statements with
reference to saline soil in India is/are correct ?
1.  They are rich in nitrogen.

2. They occur in arid and semi-arid regions,
and in waterlogged and swampy areas.

Select the answer using the code given below :

(a) 1lonly

(b) 2 only

(¢) Bothland2
(d) Neither 1 nor 2

Salal Power Project is situated on which one

among the following rivers ?

(a) Chenab
(b) Jhelum
(¢) Nubra
(d) Shyok

Which one among the following tributaries of
Indus River does not originate in the

Himalayas ?

(a) Gilgit

(b) Gomal
(¢c) Hunza
(d) Zaskar

As per the Annual Report 2023 — 24 of the
Ministry of Mines, Government of India, which
of the following are the major bauxite
producing states in India ?

(a) Odisha and Madhya Pradesh

(b) Odisha and Jharkhand

(¢) Jharkhand and Madhya Pradesh
(d) Jharkhand and Karnataka
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